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The Median.
“The median is the middle number after the data has been put in order.
If we have two numbers in the middle, we add them up and divide by 2.

E.g. Find the median for the following sets of data.

a).

b)

C.  Find the median for the following sets of data.
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2).
3).
4).
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12,14,20,9, 16, 14,17,23,15.
Putin toorder. 9,12,14,14,15,16,17,20,23.
‘The middle number is 15.

43,44,32,56,47,38,36,45,49,43.

Putin to order. 32,36, 38,43,43,44,45,47,49, 56.

Two middle numbers 43+ 44 = §7= 435
2 2

12,15,23,16,17,10,9,20, 13.
32,28,35,32,35,29,38,34,36.
143, 148, 153,137, 146, 139, 140, 152, 164.

164,163,154, 169, 171, 158,173, 163, 165.
24,18,19,30,25,22,17,26,24,33.

52,45,63,46, 55, 53, 58, 60. ’

126,110, 113, 108, 102, 121, 118, 112, 114, 106.

= =
89,78,80,87,92, 88,72, 85, 86,79, 74, 80. P /
45,40,37,48,40,52,36,45, 56,40, 43,48, 45. ; ; e
134,120, 137, 129, 130, 143, 132, 138, 127, 119, 137, 126, 143, 136\ 0

17,24,32,28,21,27,16, 19,20, 32,34,24,25,21,28,23,21.
87,76,78,77,89,80,75,69,72,77,83,75,77,71,80,76, 83, 72.

143,144,167, 138, 153, 140, 162, 148, 157, 150, 155, 164, 147,153, 155, 143, 156.
9,4,6,5,1,2,13,2,7,13,10,9,7,6,8,3,2,8,4,15,11,13,7,4,5.

12,9,7,8,14,15,11,10,9,7,8,6,14,14,12,11,8,7,13,10,10,9,8.
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